MAP 4175 /5177 Name:
Test 2 Date: September 11, 2019

Show all work for full credit, and use correct notation.

1. Given f8859 urdt = 0.3 and pgy = 0.9, determine pgs.

89 _ 89
Jos Hedt =03 = ,pgs=e Jgs uedt — =03

* 5Pgs = 4Pgs " Pgo = € 22 (0.9) = 0.667

2. Given f010 P3oM30+¢dt = 0.3 and p3s = 0.84, determine fOS Uso+edt.

10
0 = =U3 = 10 = 0.
Jo tP3okz04¢dt = 19q30 = 0.3 P30 = 0.7

5
1oP30 = 0.7 and ¢pss = 0.84 = pao =120 = 2T — 083 = g~ Jo Haosedt
sP3s  0.84

5
j Uzo+cdt = —In(0.83) = 0.182
0

o
3. Given ,p, = e %92t determine e,.

oo oo 1
o
e, = p dtzj e 002tdt = —— =150
* ]0 e 0 0.02



4. Given .q;o = 1 — (0.9)¢, determine e,.

kP70 =1 — Q70 = (0-9)k

" €70 = Z kP70 = P70 + 2P70 + 3P0 + - =09+ 0.9+ 0.9% + -+ =
k=1

5. Givenu, = A+ B-c*where A =0.00022, B = 0.0000027, and ¢ = 1.124,
determine ;,pyo-

. —B (. 30__.20
10P20 = e—fzs(;)uxdx — e—fzs(;)(A+B'C )dx — e—lOA . e]n(c) (C ¢ ) = 0.997273



